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General Instructions
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All question are compulsory.
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This question paper consists of 30 questions divided into four Sections A, B, C and D.
Section A contains 30 questions of 1 mark each, Section B contains 10 questions of 2
marks each, Section C contains 05 questions of 4 marks each and Section D constains 4
questions of 5 marks each.
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Only sketches are to be given in the answers of construction.
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Answers of the questions must be in the context of the instructions given therein.
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Do all rough work only on the last pages of the Question-cum-Answer Booklet and nowhere
else.
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Question Nos. 1 to 30 carry 1 mark each. (Y%7 i1 1 9 30 0% UAD 1 3(H &I 8 |)
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Write 140 as a product of its prime factors.
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(A) 2.4cm (B) 25cm
(G) 2.6cm (D) 2.0cm
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Section - B (@vs —B)
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uresis fafer ¥ 1’ -3x-10=0 fEara Fefiwror &1 et Fa B2 |
IJfe 15Co+A=8 & ar SinA 30T SecA BT AT A B |
faigait A (1,5) 3R B(2,3) @& g & ¢ sd B3 |

1 2 tan 30’
IJfe tan30°=$zﬁ?ﬁm?ﬁrmmaﬁl
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41. 3THTST IUleEs fafer gRT 96 31X 404 &1 HC.F 3w LCM sma &3
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42. K T AT B fou forea IRqep FANpIull b1 his &ct oial & ?
3x+y=1, Qk-Dx+(k-1)y=2k+1
43. 33 AP @1 31af ue g Fieg, fSaer 11af ue 38 B 3T 1eal ug
73 &1
44. ﬁ__|@Eb%1+SecA:sin2A
Sec A 1-cosA
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Section — D (=vs —D)
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48. g w2 6 aft Bt Dreger @t U ofam &1 9o 3T @ oferafi & dort
B AT B TRET & dl USell ol BT AFHIT HIvT AADBIT &l & |
49. Up o B fseors @ fofs FHarg acm 2 gem s@as g R @&
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